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Zusammenstellung:

87 /22 /Cumurex 7700
Bezug:

12 Malente silber

passender
EasySwing-Sessel
Modell 7040

Variante 87
mit abklappbarem
Seitenteil

Variante 22
mit Hebebett

passender
Cumurex 7700




Verarbeitung

Typenplan 1100

Kontrastnaht

wahlweise mit Holz- oder Metallfuf3 moglich

mit
Bettfunktion

%ﬁmmon
B/TH: 172/93/91
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17 18
B/T/H: 107/107/91 B/T/H: 150/93/91
el. Cumulus-Funktion
nicht an Spitzecke
59 stellen mit
. — Hebebett
15  B/T/H:80/93/108 16 73Y B/T/H: 183/95/91 74Y 46
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B/T/H: 107/107/91 B/T/H: 91/91/91
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B/T/H: 143/95/91 B/T/H: 120/93/91

76
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63  B/T/H: 142/93/91 64
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/—’ - 69  /mH:97/93/91 70 ‘
91 B/T/H: 94/234/91 92 \\’
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43 Recamiere a4 L % B/T/H: 140/93/91
B/T/H: 94/165/108 = —
33 B/T/H: 82/93/91 34 nnl
HJ
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manuelle 07
a1 Recamiere a2 B/T/H: 130/93/91

B/T/H: 94/165/108

25 g7H91/191/91 26
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B/T/H: 160/93/91 m | A | ‘ =
Stoff/!_eder- \“ﬂl‘ \ F 06
Kombination \ \ | B/T/H: 120/93/91
(Stoff ist grau 21 Hebebett 22 \V/ 95X 95Y
hinterlegt) B/T/H: 172/93/91 Recamiere = U B/T/H: 44/17/18 B/T/H: 56/17/18
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32
B/T/H: 100/93/91

B/T/H: 104/187/91 Mauﬂa e
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19 Hebebett 20 ‘ B/T/H: 100/93/91
BIH: 142/33/91 BIT/H: 68/17/18 94X
Recamiere B/T/H: 21/44/15
mit Stauraum 23 mit oder ohne 24
02 01 Stauraum I
B/T/H: 112/69/45 B/T/H: 61/61/42 3 = méglich: mAO® 35 36
Abschluss- B/T/H: 104/207/91 2 = méglich: A B/T/H: 75/93/91 B/T/H: 60/93/91

87 recamiere 88 -
B/T/H: 128/202/91 1 = moglich: | |






